CS 502

Graph Program Sample Data with Answers

Graph #1 (All distances are one unit )
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problems and solutions:

1 => 5

shortest = 2 hops
1,4,5

1 => 5

longest = 5 hops
1,2,4,3,6,5

2 => 6

shortest = 2 hops
2,4,6

2 => 6

longest = 8 hops
2,4,7,1,9,8,5,3,6

5 => 10
shortest = 5 hops
5,3,6,4,11,10

5 => 10
longest = 8 hops
5,3,6,4,7,1,9,8,10

10 => 8
shortest 

no solution

10 => 8
longest 

no solution
Graph #2 (All distances are specified )
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problems and solutions:

8 => 1
least cost = 12
8,5,3,6,4,7,1

1 => 5
least cost = 11
1,9,8,5


least cost = 11
1,4,7,8,5

